

E-ISSN: 2582-2160 • Website: www.ijfmr.com • Email: editor@ijfmr.com

# Closed Forms for the Apostol-Frobenius-Euler Polynomials

Rashin D. Nuñez<sup>1</sup>, Jenivive P. Dabon<sup>2</sup>, Stephany Mae C. Gelido<sup>3</sup>, Winple P. Menguito<sup>4</sup>, Wilson D. Castañeda Jr.<sup>5</sup>

<sup>1</sup>Master's Student in Mathematics, Department of Computer, Information Science and Mathematics, University of San Carlos

<sup>2,3,4</sup>Mathematics Students, Department of Mathematics and Statistics, Cebu Technological University - Main

<sup>5</sup>Professor, Department of Mathematics and Statistics, Cebu Technological University -Main

#### **Abstract**

The Apostol-Frobenius-Euler polynomials are novel extension from the prolific studies on classical polynomials. In recent years, there has been great erudition focused on evaluating special functions. This paper obtained a simple and finite approach to evaluate the Apostol-Frobenius-Euler polynomials through their closed forms. Closed forms are mathematical expressions expressed using a definite number of standard operations. There can be constants, variables, some elementary operations, and functions, but conventionally, limits are excluded [1]. The researchers utilized some properties of the Bell polynomials of the second kind, the Faà di Bruno formula, and the determinantal representation of the quotient rule to obtain the closed forms. The closed forms for the Apostol-Frobenius-Euler number were also presented.

**Keywords:** closed forms, Apostol-Frobenius-Euler polynomial and numbers, Determinantal expression

#### Introduction

Special functions are labelled as "useful functions" in [2] as since they are substantially useful in mathematical physics and other branch of mathematics. They surfaced from the theories of a few mathematicians but persisted to be a compelling topic in modern mathematics (see [3], [4], [5], [6], [7]). One of many topics in special functions that emanated from the extended studies on classical polynomials are the Apostol-Frobenius-Euler polynomials denoted by  $H_n(x, \lambda; u)$  which are defined by the exponential generating function

$$\left(\frac{1-u}{\lambda e^t - u}\right) e^{xt} = \sum_{n=0}^{\infty} H_n\left(x; \lambda; u\right) \frac{t^n}{n!}$$

where  $\lambda, u \in \mathbb{C}$  with  $\lambda \neq 1, u \neq 1, u \neq \lambda$  as cited in [8]. When x = 0 such that  $H_n(0, \lambda; u) = H_n(\lambda; u)$ , denotes the Apostol-Frobenius-Euler numbers. The Apostol-Frobenius-Euler polynomials are generalizations on  $\lambda$  -extension on Frobenius-Euler polynomials and these polynomials have been a subject for research for many researchers (see [9], [10], [11], [12], [13], [14], [23]).

There has been a great erudition in recent years focused on evaluating special functions (see [19], [20], [21], [22]). A simple way to evaluate special functions is to obtain its closed-form expression. A mathematical expression expressed using a definite number of standard operations pertain to closed-form



E-ISSN: 2582-2160 • Website: www.ijfmr.com • Email: editor@ijfmr.com

expressions. There can be constants, variables, some elementary operations. and functions, but conventionally, limits are excluded [1]. One particular study on evaluating special function was the study of Hu and Kim in 2018 [15] which they incorporate the generating function of the Apostol-Bernoulli polynomials to the Faà di Bruno formula for computing higher order derivatives of composite functions. Consequently, they obtained a closed form for the Apostol-Bernoulli polynomials.

This study will obtain two closed form expressions for Apostol-Frobenius-Euler polynomials. One of these closed forms involves the Stirling numbers of the second kind and the other will be presented in terms of the determinant of lower Hessenberg matrix. Closed forms for the Apostol-Frobenius-Euler numbers were also presented.

#### Result

**Definition 2.1 [16].** The Bell polynomials of the second kind  $B_{n,k}(x_1, x_2, ..., x_{n-k+1})$  are defined by

$$B_{n,k}(x_1,x_2,\dots,x_{n-k+1}) = \sum_{\ell_1 \mid \ell_2 \mid,\dots,\ell_{n-k+1} \mid} \frac{n!}{\ell_1 \mid \ell_2 \mid,\dots,\ell_{n-k+1} \mid} \left(\frac{x_1}{1!}\right)^{\ell_1} \left(\frac{x_2}{2!}\right)^{\ell_2} \dots \left(\frac{x_{n-k+1}}{(n-k+1)!}\right)^{\ell_{n-k+1}}$$

where the sum is taken over all sequences  $\ell_1, \ell_2, \dots, \ell_{n-k+1}$  of non-negative integers such that  $\ell_1 + \dots + \ell_{n-k+1} = k$  and  $\ell_1 + 2\ell_2 + \dots + (n-k+1)\ell_{n-k+1} = n$  for  $n \ge k \ge 0$ .

The Faà di Bruno formula can be described in terms of the Bell polynomials of the second kind by

$$\frac{d^n}{dt^n}(f \circ g)(t) = \sum_{k=0}^n f^{(k)}(g(t)) B_{n,k}(g'(t), g''(t), \dots, g^{(n-k+1)}(t))$$
 (1)

Some properties of (which are lemmas in this study) of the Bell polynomials of the second kind were as follows:

**Lemma 2.2 [16].** For  $n \ge k \ge 0$ , the Bell polynomials of the second kind meets

$$\begin{split} B_{n,k}(x_1+y_1,x_2+y_2,\dots,x_{n-k+1}+y_{n-k+1}) \\ &= \sum_{r+s=k} \sum_{\ell+m=n} \binom{n}{\ell} B_{\ell,r}(x_1,x_2,\dots,x_{n-k+1}) B_{m,s}(y_1,y_2,\dots,y_{n-k+1}). \end{split}$$

**Lemma 2.3 [16].** For  $n \ge k \ge 0$ , where and b are any complex numbers,

$$B_{n,k}(abx_1,ab^2x_2,\dots,ab^{n-k+1}x_{n-k+1})=a^kb^nB_{n,k}(x_1,x_2,\dots,x_{n-k+1}).$$

**Lemma 2.4 [16].** For  $n \ge k \ge 0$ ,

$$B_{n,k}(1,1,...,1) = S(n,k).$$

**Definition 2.5.** The formula for the nth derivative of the ratio  $\frac{u(t)}{v(t)}$ , where u(t) and v(t) are differentiable functions such that  $v(t) \neq 0$ , is given by  $\frac{d^n}{dt^n} \left(\frac{u}{v}\right) = \frac{(-1)^n W n}{v^{n+1}}$ . The  $\mathbf{W_n} = w_{ij}$ , such that  $1 \leq i \leq n+1$  and  $1 \leq j \leq n+1$ , is the determinant of the lower Hessenberg matrix which is given by,



E-ISSN: 2582-2160 • Website: www.ijfmr.com • Email: editor@ijfmr.com

$$\mathbf{W_{n}} = \begin{vmatrix} u & v & 0 & 0 & \dots & 0 \\ u' & v' & v & 0 & \dots & 0 \\ u'' & v'' & 2v' & v & \dots & 0 \\ \vdots & \vdots & \vdots & \vdots & \dots & \vdots \\ u^{(n-1)} & v^{(n-1)} & {n-1 \choose 1} v^{(n-2)} & {n-1 \choose 2} v^{(n-3)} & \dots & v \\ u^{(n)} & v^{(n)} & {n \choose 1} v^{(n-1)} & {n \choose 2} v^{(n-2)} & \dots & {n \choose n-1} v' \end{vmatrix}$$
O when  $i-i \ge 1$  [17]. In [1], this formula was described as

where  $w_{ij} = 0$  when j - i > 1 [17]. In [1], this formula was described as

$$\frac{d^n}{dt^n} \left(\frac{u}{v}\right) = \frac{(-1)^n}{v^{n+1}} |A_{(n+1)x1} \quad B_{(n+1)\times n}|_{(n+1)x(n+1)} \tag{2}$$

where the matrices

$$A_{(n+1)\times 1} = (a_{\ell,1})_{1 \le \ell \le n+1} = \begin{vmatrix} u \\ u' \\ u'' \\ \vdots \\ u^{(n-1)} \\ u^{(n)} \end{vmatrix}$$

and

$$B_{(n+1)\times n} = \left(b_{\ell,m}\right)_{1 \leq \ell \leq n+1, 1 \leq m \leq n} = \begin{vmatrix} v & 0 & 0 & \dots & 0 \\ v' & v & 0 & \dots & 0 \\ v'' & 2v' & v & \dots & 0 \\ \vdots & \vdots & \vdots & \vdots & \vdots \\ v^{(n-1)} & \binom{n-1}{1} v^{(n-2)} & \binom{n-1}{2} v^{(n-3)} & \dots & v \\ v^{(n)} & \binom{n}{1} v^{(n-1)} & \binom{n}{2} v^{(n-2)} & \dots & \binom{n}{n-1} v' \end{vmatrix}$$

The first theorem is the closed form for the Apostol-Frobenius-Euler polynomials in terms of the Stirling numbers of the second kind.

**Theorem 2.6.** The Apostol-Frobenius-Euler polynomials  $H_n(x, \lambda; u)$  for  $n \in \mathbb{N}$  can be expressed as,

$$H_n(x;\lambda;u) = (1-u)\sum_{k=0}^n \frac{(-1)^k k!}{(\lambda-u)^{k+1}} \sum_{r+s=k} \sum_{\ell+m=n} \binom{n}{\ell} \lambda^r (1-x)^\ell S(\ell,r) (-u)^s (-x)^m S(m,s)$$

where  $\lambda$ ,  $u \in \mathbb{C}$ ,  $\lambda \neq 1$ ,  $u \neq 1$ ,  $u \neq \lambda$ .

Proof. Set

$$m(t) = 1 - u$$
,  $y = g(t) = \frac{\lambda e^t - u}{e^{xt}}$ , and  $f(y) = \frac{1}{y}$ 

then say a function h(t)

$$h(t) = m(t)(f \circ g)(t) = \left(\frac{1 - u}{\lambda e^t - u}e^{xt}\right)$$

which corresponds to the generating function of the Apostol-Frobenius-Euler polynomials. Note that as  $t \to 0$ ,



E-ISSN: 2582-2160 • Website: www.ijfmr.com • Email: editor@ijfmr.com

$$g(t) = \frac{\lambda e^{t} - u}{e^{xt}} = \lambda e^{t-xt} - ue^{-xt} = \lambda e^{(1-x)t} - ue^{-xt}$$

$$= \lambda \sum_{m=0}^{\infty} \frac{(1-x)^{m}}{m!} t^{m} - u \sum_{m=0}^{\infty} \frac{(-x)^{m}}{m!} t^{m}$$

$$\to \lambda - u.$$
(3)

Therefore, the following higher-order derivatives of g(t) as  $t \to 0$  were obtained as follows

$$g'(t) = \lambda \sum_{m=1}^{\infty} \frac{(1-x)^m}{(m-1)!} t^{m-1} - u \sum_{m=1}^{\infty} \frac{(-x)^m}{(m-1)!} t^{m-1}$$
$$= \lambda (1-x) - u(-x). \tag{4}$$

$$g''(t) = \lambda \sum_{m=2}^{\infty} \frac{(1-x)^m}{(m-2)!} t^{m-2} - u \sum_{m=2}^{\infty} \frac{(1-x)^m}{(m-2)!} t^{m-2}$$
$$= \lambda (1-x)^2 - u(-x)^2.$$
 (5)

$$g'''(t) = \lambda \sum_{m=3}^{\infty} \frac{(1-x)^m}{(m-3)!} t^{m-3} - u \sum_{m=3}^{\infty} \frac{(-x)^m}{(m-3)!} t^{m-3}$$
$$= \lambda (1-x)^3 - u(-x)^3. \tag{6}$$

$$g^{(n-k+1)}(t) = \lambda \sum_{m=n-k+1}^{\infty} \frac{(1-x)^m}{m - (n-k+1)!} t^{m-(n-k+1)}$$

$$-u \sum_{m=n-k+1}^{\infty} \frac{(-x)^m}{m - (n-k+1)} t^{m-(n-k+1)}$$

$$= \lambda (1-x)^{n-k+1} - u(-x)^{n-k+1}. \tag{7}$$

On the other hand,

$$f(y) = \frac{1}{y}$$

$$f'(y) = (-1)(y)^{-2}$$

$$f''(y) = (-1)(-2)(y)^{-3}$$

$$f'''(y) = (-1)(-2)(-3)(y)^{-4}$$

$$\vdots$$

$$f^{(k)}(y) = (-1)^{k}(k!)(y)^{-(k+1)}$$

$$= \frac{(-1)^{k}k!}{(\lambda - u)^{k+1}}$$
(8)

Substituting (3), (4), (5), (6), (7), (8) to (1), it follows that



E-ISSN: 2582-2160 • Website: <a href="www.ijfmr.com">www.ijfmr.com</a> • Email: editor@ijfmr.com

$$\frac{d^{n}}{dt^{n}}(f \circ g)(t) = \sum_{k=0}^{n} f^{(k)}(g(t))B_{n,k}(g'(t), g''(t), \dots, g^{(n-k+1)}(t))$$

$$= \sum_{k=0}^{n} \frac{(-1^{k})k!}{(\lambda - u)^{k+1}}$$

$$\times B_{n,k}(\lambda(1-x) - u(-x), \lambda(1-x)^{2} - u(-x)^{2}, \dots, x(1-x)^{n-k+1} - u(x)^{n-k+1})$$

as  $t \to 0$ . Furthermore,

$$\frac{d^{n}}{dt^{n}}(f \circ g)(t)|_{t=0} = \sum_{k=0}^{n} \frac{(-1)^{k}k!}{(\lambda - u)^{k+1}} \sum_{r+s=k} \sum_{\ell+m=n} {n \choose \ell} B_{\ell,r}(\lambda(1-x), \lambda(1-x)^{2}, \dots \lambda(1-x)^{n-k+1}) \\ \times B_{m,s}(-u(-x), -u(-x)^{2}, \dots, -u(-x)^{n-k+1}) \quad (By \quad Lemma \quad 2.2)$$

$$= \sum_{k=0}^{n} \frac{(-1)^{k}k!}{(\lambda - u)^{k+1}} \sum_{r+s=k} \sum_{\ell+m=n} {n \choose \ell} \lambda^{r} (1-x)^{\ell} B_{\ell,r}(1,1,1,\dots,1) \\ \times (-u)^{s} (-x)^{m} B_{m,s}(1,1,1,\dots,1) \quad (By \quad Lemma \quad 2.3)$$

$$= \sum_{k=0}^{n} \frac{(-1)^{k}k!}{(\lambda - u)^{k+1}} \sum_{r+s=k} \sum_{\ell+m=n} {n \choose \ell} \lambda^{r} (1-x)^{\ell} S(\ell,r) (-u)^{s} (-x)^{m} S(m,s).$$

$$(By \quad Lemma \quad 2.4)$$

By Leibnitz's formula for the nth derivative of the product of two functions,

$$\frac{d^{n}}{dt^{n}}h(t) = \frac{d^{n}}{dt^{n}}m(t)(f \circ g)(t) 
= \sum_{l=0}^{n} {n \choose l} (f \circ g)(t)^{(n-l)}m(t)^{(l)} 
= (1-u)\frac{d^{n}}{dt^{n}} (f \circ g)(t) 
= (1-u)\sum_{k=0}^{n} \frac{(-1)^{k}k!}{(\lambda-u)^{k+1}} 
\times \sum_{r+s=k} \sum_{\ell+m=n}^{n} {n \choose \ell} \lambda^{r} (1-\lambda)^{\ell} S(\ell,r)(-u)^{s} (-x)^{m} S(m,s)$$

as  $t \rightarrow 0$ .

The next result is an immediate consequence of Theorem 2.6.

Corollary 2.7. Suppose x=0. The Apostol-Frobenius-Euler numbers  $H_n(\lambda;u)$   $(n\in\mathbb{N})$  can be expressed as

$$H_n(\lambda; u) = (1 - u) \sum_{k=0}^{n} \frac{(-1)^k k!}{(\lambda - u)^{k+1}} \lambda^k S(n, k).$$



E-ISSN: 2582-2160 • Website: <a href="www.ijfmr.com">www.ijfmr.com</a> • Email: editor@ijfmr.com

where  $\lambda$ ,  $u \in \mathbb{C}$ ,  $\lambda \neq 1$ ,  $u \neq 1$ ,  $u \neq \lambda$ .

The next theorem is the determinantal expression for the Apostol-Frobenius-Euler polynomials.

**Theorem 2.8.** The Apostol-Frobenius-Euler polynomials  $H_n(x; \lambda; u)$  for  $n \in \mathbb{N}$  where  $\lambda$ ,  $u \in \mathbb{C}$ ,  $\lambda \neq 1$ ,  $u \neq 1$ ,  $u \neq \lambda$  can be expressed as

$$(x,\lambda;u) = \frac{(1-u)(-1)^n}{(\lambda-u)^{n+1}} \begin{vmatrix} 1 & \lambda-u & 0 & 0 & \dots & 0 \\ x & \lambda & \lambda-u & 0 & \dots & 0 \\ x^2 & \lambda & 2\lambda & \lambda-u & \dots & 0 \\ \vdots & \vdots & \vdots & \vdots & \vdots & \vdots \\ x^{n-1} & \lambda & \binom{n-1}{1}\lambda & \binom{n-1}{2}\lambda & \dots & \lambda-u \\ x^n & \lambda & \binom{n}{1}\lambda & \binom{n}{2}\lambda & \dots & \binom{n}{n-1}\lambda \end{vmatrix}$$

with  $|\cdot|$  denotes the  $(n+1) \times (n+1)$  determinant of the lower Hessenberg matrix.

**Proof.** Set

$$m(t) = 1 - u$$
,  $u(t) = e^{xt}$ ,  $v(t) = \lambda e^{t} - u$ .

Then say a function h(t)

$$h(t) = m(t) \left( \frac{u(t)}{v(t)} \right) = \left( \frac{1 - u}{\lambda e^t - u} \right) e^{xt}$$

which corresponds to the generating function of the Apostol-Frobenius-Euler polynomials. Now as  $t \to 0$ ,

$$v(t) = \lambda e^{t} - u$$

$$= \lambda \sum_{m=0}^{\infty} \frac{t^{m}}{m!} - u$$

$$\to \lambda - u$$

$$v'(t) = \lambda \sum_{m=1}^{\infty} \frac{t^{m-1}}{(m-1)!}$$
$$= \lambda$$

$$v''(t) = \lambda \sum_{m=2}^{\infty} \frac{t^{m-2}}{(m-2)!}$$
$$= \lambda$$

$$v^{(n)}(t) = \lambda \sum_{m=n}^{\infty} \frac{t^{m-n}}{(m-n)!}$$
$$= \lambda$$

Furthermore,



E-ISSN: 2582-2160 • Website: www.ijfmr.com • Email: editor@ijfmr.com

$$u(t) = e^{xt} = \sum_{m=0}^{\infty} \frac{x^m}{m!} t^m = 1$$

$$u'(t) = \sum_{m=1}^{\infty} \frac{x^m}{(m-1)!} t^{m-1}$$
  
=  $x$ 

$$u''(t) = \sum_{m=2}^{\infty} \frac{x^m}{(m-2!} t^{m-2}$$
  
=  $x^2$ 

$$u^{(n)}(t) = \sum_{m=n}^{\infty} \frac{x^m}{(m-n)!} t^{m-n}$$
$$= x^n$$

as  $t \to 0$ . Therefore the matrix  $A_{(n+1)\times 1} = \left(a_{\ell,1}\right)_{1 \le \ell \le n+1}$  and  $B_{(n+1)\times n} = \left(b_{\ell,m}\right)_{1 \le \ell \le n+1, 1 \le m \le n}$  in (2.) can be represented as

$$A_{(n+1)\times 1} = (a_{\ell,1})_{1 \le \ell \le n+1} = \begin{vmatrix} 1 \\ x \\ x^2 \\ \vdots \\ x^{n-1} \\ x^n \end{vmatrix}$$

and

$$B_{(n+1)\times n} = (b_{\ell,m})_{1 \le \ell \le n+1, 1 \le m \le n} = \begin{vmatrix} \lambda - u & 0 & 0 & \dots & 0 \\ \lambda & \lambda - u & 0 & \dots & 0 \\ \lambda & 2\lambda & \lambda - u & \dots & 0 \\ \vdots & \vdots & \vdots & \vdots & \vdots \\ \lambda & \binom{n-1}{1}\lambda & \binom{n-1}{2}\lambda & \dots & \lambda - u \\ \lambda & \binom{n}{1}\lambda & \binom{n}{2}\lambda & \dots & \binom{n}{n-1}\lambda \end{vmatrix}$$

Therefore,



E-ISSN: 2582-2160 • Website: www.ijfmr.com • Email: editor@ijfmr.com

$$\frac{d^{n}}{dt^{n}} \left(\frac{u}{v}\right) = \frac{(-1)^{n}}{(v)^{n+1}} |A_{(n+1)x1} \quad B_{(n+1)\times n}|$$

$$= \frac{(-1)^{n}}{(\lambda - u)^{n+1}} \begin{vmatrix} 1 & \lambda - u & 0 & 0 & \dots & 0 \\ x & \lambda & \lambda - u & 0 & \dots & 0 \\ x^{2} & \lambda & 2\lambda & \lambda - u & \dots & 0 \\ \vdots & \vdots & \vdots & \vdots & \vdots & \vdots & \vdots \\ x^{n-1} & \lambda & \binom{n-1}{1} \lambda & \binom{n-1}{2} \lambda & \dots & \lambda - u \\ x^{n} & \lambda & \binom{n}{1} \lambda & \binom{n}{2} \lambda & \dots & \binom{n}{n-1} \lambda \end{vmatrix}$$

By Leibnitz's formula for the nth derivative of the product of two functions,

$$\frac{d^{n}}{dt^{n}}h(t) = \frac{d^{n}}{dt^{n}}\left(m(t)\left(\frac{u}{v}\right)\right)$$

$$= \sum_{l=0}^{n} \binom{n}{l}\left(\frac{u}{v}\right)^{(n-l)} m(t)^{(l)}$$

$$= (1-u)\left(\frac{u}{v}\right)^{n}$$

$$= (1-u)\frac{d^{n}}{dt^{n}}\left(\frac{u}{v}\right)$$

$$\Rightarrow \frac{(1-u)(-1)^{n}}{(\lambda-u)^{n+1}}\begin{vmatrix} 1 & \lambda-u & 0 & 0 & \dots & 0 \\ x & \lambda & \lambda-u & 0 & \dots & 0 \\ x^{2} & \lambda & 2\lambda & \lambda-u & \dots & 0 \\ \vdots & \vdots & \vdots & \vdots & \vdots & \vdots & \vdots \\ x^{n-1} & \lambda & \binom{n-1}{1}\lambda & \binom{n-1}{2}\lambda & \dots & \lambda-u \\ x^{n} & \lambda & \binom{n}{1}\lambda & \binom{n}{2}\lambda & \dots & \binom{n}{n-1}\lambda \end{vmatrix}$$
and the second state the  $(n+1)\times(n+1)$  determinant of the lower Hescenberg

as  $t \to 0$  and  $|.|_{(n+1)\times(n+1)}$  denotes the  $(n+1)\times(n+1)$  determinant of the lower Hessenberg matrix.

The next result is an immediate consequence of Theorem 2.8.

**Corollary 2.9.** Suppose x = 0. The Apostol-Frobenius-Euler numbers  $H_n(\lambda; u)$   $(n \in \mathbb{N})$  where  $\lambda$  , $u \in \mathbb{C}$ ,  $\lambda \neq 1$ ,  $u \neq \lambda$  can be expressed as

$$H_{n}(\lambda; u) = \frac{(1-u)(-1)^{n}}{(\lambda-u)^{n+1}} \begin{vmatrix} 1 & \lambda-u & 0 & 0 & \dots & 0 \\ 0 & \lambda & \lambda-u & 0 & \dots & 0 \\ 0 & \lambda & 2\lambda & \lambda-u & \dots & 0 \\ \vdots & \vdots & \vdots & \vdots & \vdots & \vdots \\ 0 & \lambda & \binom{n-1}{1}\lambda & \binom{n-1}{2}\lambda & \dots & \lambda-u \\ 0 & \lambda & \binom{n}{1}\lambda & \binom{n}{2}\lambda & \dots & \binom{n}{n-1}\lambda \end{vmatrix}$$

with  $|\cdot|$  denotes the  $(n+1) \times (n+1)$  determinant of the lower Hessenberg matrix.



E-ISSN: 2582-2160 • Website: <a href="www.ijfmr.com">www.ijfmr.com</a> • Email: editor@ijfmr.com

#### Conclusion

With the proofs presented from the previous section, the closed forms for the Apostol-Frobenius-Euler polynomials were established. The generating function of the Apostol-Frobenius-Euler polynomials was crucial in determining its closed forms because it paved way for the researchers to make use with the following: (1) some properties of the Bell polynomials of the second kind, (2) the Faà di Bruno formula for computing higher order derivatives of composite functions, (3) by Leibnitz formula for the nth derivative of the product of two function, (4) and the determinantal representation of the quotient rule. These allow the closed forms be obtained.

#### References

- 1. F. Qi, R. Chapman, Two closed forms for the Bernoulli polynomials, Journal of Number Theory, 2015, 159. 89. doi: 10.1016/j.jnt.2015.07.021
- 2. G.E. Andrews, R. Askey, R. Roy, Special Functions, Cambridge University Press, 1999. https://doi.org/10.1017/CBO9781107325937
- 3. G.S. Cheon, A note on the Bernoulli and Euler polynomials, Applied Mathematics Letters, 2003, 16(3), pp.365-368.
- 4. C. S. Ryoo, A note on the tangent numbers and polynomials, Adv. Studies Theor. Phys., 2013, Vol. 7, no. 9-12, 447-454. http://dx.doi.org/10.12988/astp.2013.13042
- 5. L. Carlitz, Eulerian Numbers and Polynomials, Mathematics Magazine, 1959, 32 (5), 247-260. doi: 10.2307/3029225
- 6. T. Kim, D. Kim, Representation by degenerate Frobenius-Euler polynomials, arXiv, 2021.
- 7. V. Kruchinin, Derivation of Bell Polynomials of the Second Kind, arXiv, 2011.
- 8. S. Araci, M. Acikgoz, Construction of Fourier expansion of Apostol-Frobenius-Euler, Advances in Difference Equations, 2018, (67).
- 9. A. Bayad, T. Kim, Identities for Apostol-type Frobenius-Euler polynomials resulting from the study of a nonlinear operator, Russ. J. Math. Phys., 2016, 23, 164-171.
- 10. U. Duran, M. Acikgoz, Apostol type (p,q)-Frobenius-Euler polynomials and numbers, Kragujevac Journal of Mathematics, 2018, 17 (4), 375-380.
- 11. S. Khan, S. Araci, M. Riyasat, S. A. Wani, A New Class of Hermite-Apostol type Frobenius-Euler Polynomials and Its Applications, Symmetry, 2018, 10 (11), 1-16.
- 12. B. Kurt, A Note on the Apostol Type q-Frobenius-Euler polynomials and Generalizations of the Srivastava-Pinter Addition Theorems, Filomat, 2016, 30, 65-72.
- 13. M. Pathan, W. Khan, A New Class of Generalized Apostol Type Frobenius-Euler-Hermite Polynomials, Honam Mathematical Journal, 2020, 42 (3), 477-499.
- 14. Y. Simsek, B. Kurt, On the generalized Apostol-type Frobenius-Euler polynomials, Advances in Difference Equations, 2013, (1).
- 15. S. Hu, M. Kim, Two closed forms for the Apostol-Bernoulli polynomials, Ramanujan J., 2018, 46 (1), 103-117.
- 16. L. Comtet. Advanced Combinatorics: The Art of Finite and Infinite Expansions, Revised and Enlarged Edition, D. Reidel Publishing Co., 1974.
- 17. N. Bourbaki, Functions of a Real Variable, Elementary Theory, SpringerVerlag, 2004.
- 18. N. Wheeler, Bell Polynomials and Related Constructs, 2020.



E-ISSN: 2582-2160 • Website: <a href="www.ijfmr.com">www.ijfmr.com</a> • Email: editor@ijfmr.com

- 19. D.S. Kim, T. Kim, Y.H. Kim, S.-H. Lee, Some arithmetic properties of Bernoulli and Euler numbers, Advanced Studies in Contemporary Mathematics, 2012, vol.22, no.4, pp. 467-480.
- 20. C. Corcino, R. Corcino, Fourier expansions for higher-order Apostol–Genocchi, Apostol–Bernoulli and Apostol–Euler polynomials, Adv. Differ. Equ. 2020, 346.
- 21. Q. Luo, Fourier expansion and integral representations for the Apostol Bernoulli and Apostol Euler polynomials, Math. Comput., 2009, 78, 2193–2208.
- 22. A. Bayad, Fourier expansion for Apostol Bernoulli, Apostol Euler and Apostol Genocchi polynomials, Math. Comput., 2011, 80, 2219–2221.
- 23. C. Corcino, W. Castañeda, R. Corcino, Asymptotic approximations of Apostol-Frobenius-Euler polynomials of order α in terms of hyperbolic functions, Demonstratio Mathematica, 2024, vol. 57, no. 1, pp. 20230106.